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Multiplicar por potencias de diez (nimero faltante)

Nombre:

6, 096 x = 609.6
10, 855 x = 10855
1,591 x = 1591
7,783 X = 7783
5, 804 x = 580.4
7,906 X = 7906
6,297 x — 62.97
4,373 % =43.73
6, 977 X =697.7
8, 132 x =813.2

Fecha:

9,349 x

2,163 x

8,073 x

9,021 x

3,355 %

1,787 x

4,321 x

7,98 x

Puntuacion:

3,871 x

6, 883 x
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=934.9

=21.63

= 80.73

= 9021

=335.5

= 178.7

= 4321

= 7980

= 38.71

= 688.3
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Multiplicar por potencias de diez (nimero faltante)

Nombre:

6,096 x 100 = 609.6

10, 855 x 1000 = 10855

1,591 x 1000 = 1591

7,783 x 1000 = 7783

5,804 x 100 = 580.4

7,906 x 1000 = 7906

6,297 x 10 = 62.97

4,373 x 10 =43.73

6,977 x 100 = 697.7

8, 132 x 100 = 813.2

Fecha:

Puntuacion:

9,349 x 100 = 934.9

2,163 x 10 =21.63

8,073 x 10 =80.73

9,021 x 1000 = 9021

3,355 x 100 = 335.5

1,787 x 100 = 178.7

4,321 x 1000 = 4321

7,98 x 1000 = 7980

3,871 x 10 = 38.71

6, 883 x 100 = 688.3
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